G00CLLrS \

(ON_ONIMVYQ) £ 58 H b=

DCF-C-212G (11. 08)

12.5 +0.1

10.5 +0.1

87 +0.15

20.4 08
Height of BUSBAR
IZN—RY FHE

1.6 +0.8
Height of LOCATION PIN
NERAOARES S

r———"" " T T T T T === arT Tt T T T T T T T T T T oAy T T T Tt Tt Tt T T T T T T T T T T T T T T T T T T T T
| 0+2 | KL plane apgle | _©5.3 =01
| panel center ! H
| X axis B H
| [ |1
| B i )]t
: ¥ !l M6—screw |
i ii 'E ii anel center |
| B H N
| [ |1
| [ [
| i 58.4 || M6-screw !
i i i ! ! +TABLE-1 i i
| || TABLE-1(SIGNAL CONTACT) || ©7.3 £0.1
| [ [
| [ e ]
! I H [PANEL DIMENSION (REF.)]
T L DWIPOMKAFTONLY | ISR
BUSBAR 13.5
3.2 MAX i 0
l ] \
y O~ N°© ﬁ g
O R[] i
we-A | [
B | ) e R L e s |
upe-B | -
=
P EIR i
) @ 4 L' JI
O olq N\ Iy
I
73\ \ 4-M8 x 1. 25
\ \ (Note3)
106 LOT No. 53.6 +0.8
\ RATED CURRENT/VOLTAGE
115.7 +0.8 O+ kNo.
ERER/EREE
(55.2)
®5.0 (Noted)
2-Through hole for M6 screw ‘HE
(Note2)
M6 E @y GE2) )
_ 8.6

[perspective view]

45

IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII| |
10 20 30 40 50

s/w

—=
2
[

Copyright(C) 2011, Japan Aviation Electronics Industry, LTD.

ey £AH oN M. A a B & m & 3
REV. DATE DESCRIPTION DR. CHK. APPD. APPD.
Lo
o
<
o
<
N
)
N
23
Mo
3
aram a Q
*%ﬂg” E§}£§HFIE§ g
SPECIAL CONTROL [TEN =
LiEith
B,/
Note 1. PRODUCTION LOT NUMBER AS INDICATED.
Note 2. TIGHTEN SCREW(M6) WITH 5. 2[N - m] 0. 3[N - m]
. Note 3. TIGHTEN SCREW(M8) WITH 12.5[N - m] £0. 75[N = m]
(7~ oL \ Note 4. HOLE FOR CABLE UNITY BAND.
©s A9
' ' E1. RROB/mIZOy Mo 2FRR
(50{ I;IEngR7DISPLAY EXAMPLE O v FEBE&RRH)
"L 4R (DAY)
— ] i B (108:0,118:X, 128 :Y) (MONTH OCT:0, NOV:X, DEC:Y) ~
£ (FEXRE) (YEAR LAST DIGIT ONLY)
#l5&1-1" (PRODUCT CODE)
E2. RERD M) #4F FJL45.2[N-ml+0.3[N - m]
[<©\_ . % 7@ ,%2 %%ﬂ?g%glﬁ1ﬁzﬁglb712. 5[N - m]£0. 75[N - m]
7 . —7) [i=] /\> ~ 7.(
QO A5 RO
6 |GASKET 1 [SILICON RUBBER COLOR: GREY
5 |SLEEVE 2 |BRASS -
4 |SPRING PIN 2 |STAINLESS STEEL -
3 |PIN CONTACT 2 |COPPER ALLOY SILVER PLATING
2 M8 HEXAGON NUT 4 |BRASS NICKEL PLATING
1 |OUTER HOUSING 1 |PPS COLOR: BLACK
T % 7 e o * L =
NO. DESCRIPTION QTY. MATERIAL FINISH REMARKS
TETEZ (SPECIFICATION) ZE 1 FIR(ORIGINAL DATE) RIE (SCALE T 1) —X (SERIES)
30188 /0] 12 DH2 | eprze T et |
DR. - £ ¥R (TITLE) =
_%ﬁi(GENERAL TOLERANGE) Zﬂi. T EBISAWA DWZPOOZZH1 /r} JAPE,T_I\ééI\_/éP(\)'I"\}%\é ,EJ
TROMENSON | BRONSED w0 (fixed connector) AE  \pustrLD. | @
) +0.8 N + AP=PD. ) . _ i
% +0.4 N i)ap..;\D. 6. HAGA BEZS (DRAWING NO.) f&%ﬁ
XX x0.1 &= (MASS)
XXX + _ —@)—E:]— SJ112005 1
JAE Connector DIV. Proprietary.



	ｼｰﾄ1
	図面ﾋﾞｭｰ1
	図面ﾋﾞｭｰ3
	図面ﾋﾞｭｰ4
	図面ﾋﾞｭｰ5
	図面ﾋﾞｭｰ6
	図面ﾋﾞｭｰ11
	図面ﾋﾞｭｰ12
	図面ﾋﾞｭｰ13
	図面ﾋﾞｭｰ14
	図面ﾋﾞｭｰ15




